SERR28EFE W AT TR R R w5 3

4 5H 6H 7H 8H 9H 104 | 11H | 12H 1H 24 3A = PRk 264 | R 2 TAR
G 7 4 8 8 4 7 7 7 3 4 7 3 69 63 80

BHE= (1)
N 101 66 250 115 52 109 97 130 42 36 59 28 1,085 761 1,243
G 1 1 0 2 0 2 0 0 1 0 0 0 7 9 8

HE= (2)
N 8 7 197 38 0 39 0 0 53 0 17 0 359 100 146
gk 8 5 8 10 4 9 7 7 4 4 7 3 76 72 88
WHE= G NEK 109 73 447 153 52 148 97 130 95 36 76 28 1,444 861 1,389
U HHEE 5,250] 3,500 3,600] 7,200 3,900 8350 3,950 5250 2,700 3,900 8,100 2,550 58,250 55,650| 58,700
FIEK 84 54 85 67 74 128 114 92 103 96 123 119 1,139 569 1,131
KA 89 58 91 81 83 142 129 97 111 103 134 124 1,242 671 1,258

S VIZINDN - ¢

Y 138 68 133 95 124 186 141 128 152 142 173 191 1,671 839 1,692
NHEGH 227 126 224 176 207 328 270 225 263 245 307 315 2,913 1,510 2,950
gk 40 48 16 20 21 31 39 57 37 48 40 52 449 446 460
7Y RENT N 247 254 100 98 88 194 203 286 234 205 157 264 2,330 2,447 2,548
Is%E [ 72,200 [ 94,000 | 38,200] 32,600| 34,200] 64,900| 68,300[/107,600| 68,800 77,800 61,200| 97.800] 817,600 803,200 887,100
-k 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

7 —bhAR—v
N 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
N#EAF(N) 583 453 771 427 347 670 570 641 592 486 540 607 6,687 4818 6,887
IAHEESFT (M) 77,450( 97,500( 41,800] 39,800| 38,100| 73,250| 72,250[112,850| 71,500| 81,700| 69,300]/100,350| 875,850 858,850 945,800

X OHME=E (2) DI EUE, (1) L2 HOLEIEL (1) THV b, AT (1) L4255




